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1.  H"�����"��I���@�������E	�	�!���	

 �'
	��" (2541) �
��
�0�
 �
������6�1�/���,8��	����������B�	
����
�����$�
�3��?�
���&,���0
���	�4,��3�/ �&�� �
���-,�  ������,�-,�  v}����}� (  ������
 ��%8���
	�
������6�1�/���,8
�,� �,&0��
�����
��7�1�/�,	
��
5�&%8� ��
�
�3$/0�
��6� ��
&��,�$��1�/��� (queen of fruits) 
�
�����
���.�3�0�'( Guttiferae �,&%8�0���
'
 ��(0�
 Garcinia mangostana Linn. �$��������,8 >
�
�
3������'1���%�B
�3�/ (�%5��,8��.	 61.23% ������ 62.34%) B
���0
���	 (�%5��,8��.	 37.90%) 
�
�$0
��,8 >
�
��%� �
�����,������ 32% &���� 26% ���'�,!����
& 13% ��
� 9% ����� 8% 
����� 4%  �����
!�0
  3% �%5��,8��.	�0��
5�$������
+ 300,000 1�� �%5��,8�
5�$���,83$/��
������/0 160,000 1�� (	��0�&
	
��	9��, 2547) �
���������������1�/�,3�����,8�,�
	
'�/�� 
�0
�&%5� .�����
+�5>
@�������
���+$B.�� �8>
� �� &�0� 25-30 ��'
�-��-,�  �0
�&%5� 
��
�!(
�
		0�
 80% ����
+�5>
@��
		0�
 1200 �������������E ���
��0
� .�3	�/��,��	
����
��5>
����
��?7�����
+ 70 �����$�%����
��5>
���� B
���� ��.�+(  ��0�-�� 1�������7�  �0
���6�	��
��
�  5.5 | 6.5  (�� ���  ��� , 2545)   �	,�����	9�� ����+� (2530) 	��
00�
 �
������6��%&�,8
�/��	
������
�
	�
5������	��.	1����� �
��
5�	
���.	�%&�
����3$/	
��
�����7��
�0�
��6� �8��>

��6���8� 3�0
���	�,8�>
	
���.	�
����	G���/���,	
��
��>
�����
3$/�
��, ����%&�,8���>
�
��.	�>
���
��
3�������	�0����,�0
����
�1�/�
�����
+ 2 �E ����
	�
5�	G�
��/���
'
������
�
	�/�
1�/�%8�-78�����6�����,8?
0����1�  Yaacob ��� Tindall (1995) 	��
00�
 �
	9+��
���	9'
 ��(
����
������6�1�/�%��/���
�	�
�?7�3$�����%�	�,�
� ,�$�%��3�$�
�, ,��,�0��/���6��
� ��	
��	�,8��
�	�8� �0�3$����6���	��,8�0����6���� berry � /���
�'.��(	�
����,��
� 3.52-7.00 
�-������� ���%�	$�
����
+ 0.8-1.0 �-������� �,����5>
�
���.��
	�
���6� ,�$�%����%8�����
�����6� ,��0���%8��	���%5�B
�3��, ,�
03 �������� ��%5���������	��6�	�,�  4-8 	�,� ��/0���
�>
�0�1������  �>
�/� .�����
+ 20 ���� � /���
�'.��(	�
��>
�/� 0.25 -0.35 ���� 3���6���� 
opposite �.���
�3���� oblong ��
�3���6���� obtusely  acuminate �,�
�3���6����  acute, 
obtuse $�%� round ���3���,����6���� entire 3�$�
��
�3� 12-13 �-������� 	0/
� 4.5-10 
�-�������  	/
�3� 1.5-2.0 �-�������  �
�����
�0�
��6�1�/���,8�����������&/
�,�������$�
�7� 	�8�
��	��	��6��.� �
��,	
���		�8��/
��E�� 2 &
5� &
5��� 2 	�8�  (	0�'0(, 2546)  �'
	��" (2541) 	��
00�
 
�
������6��%&�,81���,	
�	�
��
�!�(�7��,��,��$�78��
�!�(�%��
�!�(�%5���%�� ���
����G��	���
	��%5���%8� 
nucellus 1��1�/�	���
		
�� ���$0�
�1����� ��}�(� ���
�1�	G�
�   !0
&&
� (2542) �
��
�0�
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�
����3������'1�� 
�
�?������	��6� 2 �0	 �%� �
������%�����(����
�����y	9(3�/ �
����
��%�����(3��,�
	9+���,�0 ����G	  �
50����G	 ����
0 ���%�	�
� 	�,��,8��
��
50�, ,��� �� �	�, ,
��0��>
 �+��,8�
�����y	9(3�/ 3��
	9+��/0����� ��3$�� �
50�� 
5� ���%�	$�
 	�,��,8��
��
50 ,
��,�0��/� �� �	�, ,�����&��.����������,8����6� ,�>
1�/&/
	0�
�
������%�����(  0�&
� (2540) �
�
�
�0�
 ���G��
�!�(�
�����,8�	G��
	9
3� B
�&%5��,8��+$B.��$/���,�0
���	����
&�,�0
���G03�	
�
��	$�
��	G��
	9
�
�  14 0
�  .�	0�
���G��
�!�(�,8�	G��
	9
10/3� B
��$/� �
&�,�0
���G03�	
�
��	������G��
�!�(�
�����,8�	G��
	9
10/3� B
�&%5��,8��+$B.��$/�����8��75�$�
��	G��
	9
 ���	
�
�	G��
	9
���G��
�!�(�
����3� B
��$/� �>
3$/�0
��,&,0��������G��
�!�(���� ����0
�&%5����G�
�
�!�(�,�0
� 
��
�!(	
��0
��,&,0��������G��
�!�(�
����   �
	���'( (2545) �
��
�0�
 	
���
�����
	���0�	
�������%8�3$/1�/�
�����,8�,��+B
����	
�4,���������.�
v� -������(��$�
��
	3$/����
�
���� .�� 8-24-24 &�0�	�����	�
�$�%� 13-13-21 &�0������ 
�
�?���8������������+B
�
����
����1�/  ��	�
	�,5��/0 	
�&
	�>
������3$/�
�����	����G0���	
�3&/ 
��
�����0��

�-� 3 	�
�����/� 	
��
�����
�� 6 �E �>
3$/�/��
�����
�� 6 �E�	��1�/ -78���G0�75�  1 �E ��%8����,��
��,��	
��
�����,8�����3$/��	��	�
�!���&
��  ( 
�
+$( ����+�, 2538)

2.  ���	���@�	�F"#�	���@�K$�=$��	��F��>�=��L=MH��H�H�=��@I���H

                   &
��� (2545) 3$/�0
�$�
����	
��
�����	�8� �%� 	
� �/
����� �/
�����/�$�%�	
�
�75����� ��6�	
�	>
$������ �/
�����/�1�/0�
��10/�>
�/� .�	,8������/0�7��
��
�3$/��		�8�	/
��
�
�,8�/��	
� ���	
�	���
����	�8�	/
�1�����
�	
�  �� (2539)  1�/�>
	
�'7	9
	
�3&/�5>
����
����
�,8�,	
��0������������,8��	��
�	
� ��0�
 3��
�����,8�,�
���
		0�
 20 �E 	
��
������	 1.75 
���� ��%8���}��������3$/� �������
�B
�3���������>
3$/3����	�8�B
�3���������,8��	3$��1�/�
�
� ����
���G��,8 �����6�	
����8���� ��!�B
�3�	
� 
����
�$(� ��,���>
3$/������ .�	0�
�/��,8
1���
���� 3�	
��
�����	�8�����
���� 
�
�?���y�$
	
�3$/�������0/��E (alternate  bearing) 1�/ 
���8���� ��!�B
�	
� 
����
�$(� ������	
����
�����������'
��.�
�&���1�/ 3�	
��
�
�����%8���}���������0����>
3�&�0���.@� ��%8�����	
�	
��	��3�1$�/��%8���
	� ����  
�
+$( 
(2536) 	��
00�
 �
������6�1�/���,81���/���
������
	 3�&�0� 3 �E��	$�
��
	��.	1���0��
��������
��%8��/��,��
�3$�� ���3$/����/0�0��,	
��
�����$�
��
		
��	G��	,8�0������>
�E ��%8��
�����	�8�
�$/� 	�8��,8��6���� 	�8������,84,	$
	�+��	G��	,8�0��%8�1��3$/��6��$����,8 � �������������� -78�
&�0�3$/� ���
���/
1�1�/�
80�������   ��6�	
����8���� ��!�B
�3�	
� 
����
�$(� �����%&     ��
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��  (2541) 1�/ ���10/0�
 	
��
�	
�����������	
��
�����	�8���6�	
�	���>
��%8�3$/ �0����
 
��
�!(	
� �0��
	 (top-root ratio) ��6�	
�	����/�	�1		
��>
�
�3�������
�z ����%&3$/���� 
	�8� 3� 	/
� ��	 �����1�/���
��,��� ��!�B
� 	
��
���������,0
�?���� ��(��%8�3$/�%&�,����
 �/
���G���� �,	�8��
��5>
$�
		���
������'�
� ��%8�	
���	��	�������
�������+B
������
����
		���>
3�   2-3 �E��	 �.����	
��
���������, 5 ���1�/�	� �������}�
��� ������
��	
�$�%������}��	�	�
�  ����}�
�������$�%��
��������	�
� �����6������������
�������%8�z 	
��
�����	�8��
	��	���>
$�
��
		
��	G��	,8�0��������/0 ��6�	
��
�	�8��,81��
�/��	
���	�&��	�8��$/� 	�8��,8��6����$�%��,������	0� 	�8��5>
�/
���6��/� 	
��
�����	�8��/��	
�
�0����	
���	��	����� �/��	
�3$/1�/������ .�����,��+B
��, �.����	
��
�����	�8�1�/�	� 
	
��
�����	�8����
���
�
� 	
��
�����	�8��
�	�
� ���	
��
�����	�8����
�$�
	 	
��
�����	�8�1�/
���/���./�� 
�	
���	��	���1�/�� �/���$�
�	
���.	
� �/��3&/���%8���%��,8�$�
� �3$/�$�%�	�8�
	���
����z �/� ������/���
	9
�������
���%8�����	
������������/0�   0����� (2511) 	��
0
0�
 �%&�
�&����/��	
�	
��
��������
�$�
	�7���3$/��	3$/���, �&�� ����
 ����� ��6��/� 1�/��
����
801���/0?/
�
����$�%��>
	
��
��������
�$�
	���	��$���$�%�	�8������
	 4��
5�	
���/
3�
�� 
���
�z���1�/���7��,�����&�(  ���&�0�����	
���� ,�$
��
��	���
�
		
��
�����1�/      
$�0�����'��>
���	
� (2529)  	��
00�
 �/��
������6�1�/���,81���/��	
��
������
	  �/���G	�	%��1��
�/���
�������� ���$�
��
	�	G��	,8�0��������/0�>
��6����/���
�����	�8� ����>
�/��,8&�	&5>
���
�
	
��	G���$�%�	�8���6����	�8��	��,81�� 
�
�?��	����/03&/�.����$�%� ,�5>
�
��
   &
��� (2545) 
	��
00�
 �������1�/���,8�,�0��,�>
�$������	�8�	/
� 
�
�
�10/���
��,����,�� ����,�4�
�	�8�	/
��,8
�,���	0/
��,�>
�$������	�8��,8	���
�1���	��' 1�/�
�� �������
��
80?7�����,	
�?�
����
	
'�,8�, 
�0�3� (2544) ��0�
 $�
��
	�	G��	,8�0�/�@�
8��,8�,���������� y-trellis, palmette, �������/���� 
slender spindle �,�0
���/�� ��4�,8��,8��������
�10/�
		0�
&���0�����,81���, 	
��
������������  
Mika (1992a) ��0�
 	
��
���
��������/������}x��,8�
�$���� 
0 ��1���	0��0
� 
��
�!(
���	
�������������
�!���&
������
 -78�	
��
���
�����>
3$/	
�	����/������%5���%8��������
���,	
����%8���/
����(����,8�	,8�0	
�	
�������������
	�
	1�/�,	0�
 ����0
� 
�
�?3�	
�
 �/
��
��	����	��	1� �/
��
���	���   	�����+
!�	
��4�
�	���
��	9��	��� (2540) 
�
��
�0�
 	
��
�����$�
��	G��	,8�0���>
3$/�/�1�/vwx��
0��		�8�3$��1�/��G0�75�&�0�3$/�	��	
� � �
�
$
�3��>
�/�1�/�
�	�����	��	���?/
3$/�5>
 �������$�
�	
��
������>
3$/�/�1�/�	��	
���		�8�
3$�����	
��������������G0�75�  �0�	
��
�����$�
�$��@���6�	
�	����/�3$/�/�1�/ � ��0	
���� ����5>
�
�$���	
� �/
�3�����/�1�/��%8� �/
��0
� �������!
���
$
�3��/�1�/      
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Ramos ����+� (1992) ��0�
 0���(�
��,8�
�����������������0�
50��6��?0�������
�	�8��/
�
 �
�	
��,���/
�����E��3$/�������
		0�
�/��,8�
����������0�
50��6��?0�������
�	�8��/
�  ��
�/
�����E   Mika (1992b) �
��
�0�
 	
��
��������1�/����� vertical axis ���>
3$/�/�1�/���,	�8�
$�
	�,8��G�������	�8��/
��,8������	���
� �8>
� ������>
�/�-78��$�
�	
�1�/��	78������,8��.	
3�����0+�,8�,����
�   	�����	9�� 
��� (2542) �
��
�0�
 �/��$��
$�%��/��$��
�.	� ��,83$/��
��/0�/���>
	
��
�����	�8���	�E������
�����	�8������,8����/�����0+�,8���	
���� 	�8��5>
�/
� 	�8��$/� 
	�8��,8��6���� 	�8��,8�,���� ���4,	$
	� ,�$
���	 	�8��,810/�
5�?/
�,3������.�	G������3���	3$/$��
��%8�3$/��		�8�3$����/��z 	
�����,����
+��	�
	 �/��/��$��
$�%��/��$��
�.	� ��,8�
�����
��	�E���,����
�3$���,��+B
��, ����,�
�
�,	0�
�/��,81���>
	
��
�����  Caruso ����+� (1998) 
�
��
�0�
	
��
�	
���������,&��� y shape  ����3$/����0+ �0��� ��� �0�	�
�����������
1�/�
�� � 3�����
+�
		
�	���
��
0�����B
�3���������$�
� ��>
3$/�������,81�/�,��+
B
� ���1�/�
���
�3�	
� ����	   �B�&
� (2541) �
��
�0�
 	
��
�����	�8����	��3�����	���
3$/������ ���>
3$/1�/��������/��
��/��	
�	
�	���
����	�8��
80�>
�/�1��$�
	1��
��/
�3�
�/
�$�78� �� ����3$/���	�������	��	��1�/�
80�>
�/�  0
��B (2541) 	��
00�
 	
��
�����	�8�
���
0�>
3$/�/����
0�,���� �/
��,8��G�����,�
	9+�����.�����
��,8�/��	
���	��	�����
	���
��
80�/� ��%8���
	�
�� �������
��
80?7� 
�
�?����	
�	
����
��������������1�/	
�
�
�����	�8����
0�,8�,�
�� 3 �E�75�1� �0��
������
	����/� .��75��
����
+ 1 ���� 1���0��,	�8�
������.�����0��,����/���,�0�75��
	�8��,8�/���
���	&�0��,5�%� 	�8��,8�$/� 	�8��,8��6����	�8��,8��.�&��	
�
�	��1� 	�8��,8�
0�	��1� 	�8��,8�	�	� ���	�8�	�������		
��
�&�0��,5��6�	
�&�0�3$/� ���� ���1�/
�
80?7��
5��/��>
3$/���
0��	��	1�/�
80?7�   ���� (2537) �
��
�0�
 	
��
�����1�/�����$�
0
�+��
	�
0 (dormant pruning) ��	����/�3$/�/����8�	
������������3���.3$��  �0�	
��
�����3�
�+��,8�/�	>
�
������������ (summer pruning) �>
1�/�
	��%8���
	��1��
8����	
�������������>

3$/	
���������������� ����
���6������&�(�/
�3�	
�	����/�3$/�%&���,8��&�0�	
������������
�
�	�8�3�1���6�	
�������
�	
� %��
�!�(    &
��
� (2541) 	��
00�
 	
���.	����0�3�����&��
�/���>
	
��
������������3$/��,5�������6�$�
	 �.�����,8����3&/����$�
� �	
�	
���.	����0�
������.	&�� �%���������	
�-78����
������%8���}����	�
������������/�3$/�������� 
�
�?
��	
� � ��������������1�/ �
��&�( (2541) 	��
00�
	
��
�����	�8�����0�����>
3$/�������
�������� ���?7� ���>
3$/����0������	��	��1�/�,���	�8��,8�
�����6�	�8��,8�$/� 	�8���6���� 	�8�
1�0/ 	�8��,8��������75� .� 	�8�	�
�������������
�	�8��,8���������	G���������/0   Campbell ��� 
Wasielewski (2000) �
��
�0�
 ���������0�!,	
� �0������������������0�3�����/�� �.����
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3$�����	
��
���� 	
��
�	�8� ���	
���G� �
� �0�������������	1��>
3$/ 
�
�? �0����
��
� ���������� �,	
�3&/�%5��,81�/���
���/���
 ����,��� ��!�B
�   Johnson ��� Robinson (2000) 
	��
00�
 	
��0������������������0��
�!�( ���&���
� �
�	0
 ����
��� ��� tatura trellis �,8�,
�>
�0��/�����%5��,8 1666, 666 ��� 476 �/�/��	�
�( �
��>
�
� ��0�
 �>
�0��/�����%5��,8 .�3$/��
���������	�
�(���8��
	�75� ������,	
����������������/�����  Caruso ����+� (2001) ��0�
 
����
�,��,8�0�������������� y shape ���,��
�0
���/�� � 	
�	���
����� � �5>
$�
	�����
���� �������
+�����G��,8���
��5>
����0+ �0������������� .�	0�
����0+ �0�	�
���� �0�
��
����������� Loreti ����+� (1993) �
��
�0�
 	
���.	����
�,� �,8�,�0
�$�
��������/� .�
�� �������	
��/
� 	
���
�4�,8�����5>
$�
	���%� 1�/���,8�,��
���G	���	
��0�������������� 
palmettes �,8������.	 4.5×3 ���� �>
3$/1�/ �������,8�,��+B
��,	0�
	
��0�������������� 
spindle �,8�,������.	 4.5×1.5 ���� ��� 4.5×2 ���� �
��>
�
�   Buler ����+� (2001) �
��
�0�
 
	
��
�	
�������������}x���� mikado ��� hytec ���>
3$/�,	
�	���
����� �3��������
 �8>
� �����	
��
�	
����������� mikado �>
3$/1�/�������,8�,��
�3$���$�
��	�	
� ����	   
Mowat ��� Chee (2005) �
��
�0�
 �.�����/���� y-trellis �$�
�	
��/������}x��,83&/�/���
������%8���
	 
�
�?�
��5>
$�
	���������1�/�
	����������,��+B
� .� �0�   Cheryl  ���
�+� (2002) �,8�>
	
�'7	9
3������}x� ��0�
 �/��,8�0�������������� y shape ���,�������>
�0�
�
	����,��
���G	-78�����/
�	
����������� high density v �,83$/�������/������,��
��,81�/�
��
�
�	
� ����	�
	�,8 ��  Bound ��� Summers (2001) ��0�
 	
��
�������������/������}x�3���.
�/�����>
3$/���,��
���G		0�
1���>
	
��
�����3���.�/�� De Salvador ��� Fideghelli (1993) ��
0�
 $�
��
	�>
	
��0���� �������3��,&��6��0�
 4 �E ��0�
 	
��0�������������� v shape ���,
����
+������������  .�	0�
	
��0�������������� spindle ��� bush

3.   ���	���@�	�F"#�	���@�K$�=$��	�=���
�@�	@��������	��@I���H

                     ''�!� (2540) 	��
00�
 �%&3&/� ���6���
��
���%8�	
� 
����
�$(� � ������	G���
�
�
�� ���/0���,8����6���
��
����,�	G�  � �10/3��.�����5>
�
������������,�5>
���
�
�(���1���	1-�(��6�0
�?���� �4����� (2535) �
��
�0�
 � � �0��,8��6������&�(����%&$�%�
���	
� 
����
�$(� ��,�0
��
0�����%8�� ���.���$0�
�����
+ 400-700 �
������ -78���6�� �
�,8 
�
�?����$G��/0��
���	���/0�� � ,��
�z 6  , �%� ��0� �5>
���� ��,�0 �$�%��  /� ��� ��� 
-78���	��
�	
���%8���0
��
0�����%8����3$/��
��
�1�����
	
�� � ,��
�z �
�	��
0��?.	�.�-
�10/
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��������vE��(����%&1�����
	
� � � ,�5>
��������
+ 420 �
������ ��� ,�������
+ 670 
�
������ ��6�� ��,8�%& 
�
�?3&/1�/�,�,8 �� �0�� � ,��,�0����$�%���%&3&/1�/�/���,8 �� � �
 �0��,8��6������&�(���	
� 
����
�$(� ���,�	0�
 photosynthetically active radiation (PAR)  � �
 �0��,5���	���/0��v����,83$/��
��
���
�z 	
�-78���
��
��
	�v����$��
�,5��?.	�.�-
�10/
��������v}��( ������,8��1���6���
��
����,��%8�3&/3�	���0�	
� 
����
�$(� � �
��
5�	
�
 
����
�$(�7��75���.�	
�����
+$�%��0
���/��/����  �v����,8�		����������� (photosynthetic 
photon flux density, PPFD) � ���6��y��
��,8�,�����	���0�	
� 
����
�$(� ����	
� �/
�
�
$
� ��%8�3&/3�	
������������ 3�&�0���	���	
�������������%��
������
+ 1-4 �E �/��
����
�/��	
���
��
�� �3����
��8>
$�%��/��	
������
 (shading)  
�
+$( (2536) 	��
00�
 �/��
�����,8�,
�
�� 1-4 �E �0�3$/�����
����,� ���
�����
+ 50 ����(�-G��( �,���>
3$/�/��
�����,	
����������
������
��
	
��
��/
��>
�/�����
	�,�,8 �� $
	3$/� ���G��,8�>
3$/�
���3�����?.	�>
�
����
�
�3��,8 ��  0��
�����,8�,�
���
	�75��,�0
��/��	
�� ���G��,8 �� (2539) 	��
00�
 3��/��
�����,8�,
�
���
		0�
 20 �E 	
��
������	����
+ 1.5-1.7 ���� ��%8���}�����������3$/� �������
���/

B
�3�������� �>
3$/3�B
�3��������1�/�
�� ���G��,8   �,��� ��!�B
�3�	
� 
����
�$(� ����
 �����������
+��������� ��	�
	�,5�
���0�
�
��,�������+B
�����������
���� ����4�
�
�
�����,8 �	�	�����	G��	,8�03�&�0���
���. -78���0�
�����,��	
 ��6���%5��	/0 .� $
	��1�/�
�
� ���G��,8 
�
�?���y�$
�
	
��
�	��
01�/ ��%8���
	���,8���� ����>
3$/�	��	
��
��5>
��	 
�>
3$/	
� � ��5>
�/�� ��	
 ��6���%5��	/0���8>
	0�
���,81��1�/�
�� �$�%�1�/�
�� ��/��3����
0
� �
		
�'7	9
���  �0�&
� (2542)  ��%8�������	
��
�����	�8� ���	
��
��/���
��,8�,���	
�
������������������������
�����,8��.	��0�3� 0���
��/0�0�!,	
���
� z ��0�
 	
���� ���
�
� �,�0��
 �&�� ��
�0
��/
��
��
	3������
'
	�(����5>
3�3�1���,�0
���	��
�	
�����,��

3	�/��,��	
�3���	 �8������  �0��/
�	
������������ ��0�
  �8�������,81���>
	
��
����� 	�8��,
�0
� .��
	�,8 ����%8���
	��.�B
�3�/ B
������
�7��/����
��
0���	
����8��0
� .�3$/�
	�75���%8��,8
���
�� �3$/1�/�
	�75� Yaacob ��� Tindall (1995) �
��
�0�
  B
������
�
	�	��1� �
���6�
 
�$���>
3$/�
�����,	
�������������
��/
��0
� .��
		0�
�	��  �
		
������ Buler ����+� 
(2001) ��0�
 	
��0�������������� mikado ��� hytec ���,	
�	���
����� �B
�3��������
 �8>
� ���,8���
��0
� .� 0.5, 1.2 ��� 1.8 ���� �,	0�
���������� spindle  ���  solen  �,8�,	
�
	���
����� ��8>
�
	�,8����0+ �0�	�
����������� ���	
�	���
����� ��� .��75���%8�0
�
��	1��/
��/
���������
5� ���/
��,8���
��0
� .� 1.2 ���� ��� 1.8 ���� �
	����/� ����,8���
�
�0
� .� 0.5 ���� �
	����/�	G��0�
	
�	���
����� ������/
� �8>
� ����%8�0
���	1��/
��/
�
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��������
5� ���/
� ������������� hytec ��� solen ���,��
�4�,8�����5>
$�
	������ /���
'.��(
	�
�������,8�,��
��
		0�
 7 �-������� �
		0�
�����������%8� Asada ��� Arakawa (2000) 
�
��
�0�
 	
��
����������� central leader ��6�	
��
���������,8�$�
� ��,8 ��3������}x��
�!�( 
Fuji / M26 ��� Jonajole / M26 ��%8���
	� � �����
�1�3��������1�/�,�����	����/�3$/�,	
�
 �/
� 
� �0������	����� .�

�"=OK����@�


1.  ��%8�'7	9
�����	
��
�	
���������,8�$�
� ����	
���������������	
�3$/����������
����
2.  ��%8���6��/��.���%5���/�3�	
�����>
�	9��	�?7�	
��
�	
���������,8�$�
� �


